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PreCale .
WS: Summer Work Extra Practice

(Ll 1 -4, factor completely.
L X +13x7+42x

x(xZ+1Bx+1%)
KX +6 X +7)

3. 6n'-19n+38

In 5 - 6, solve by factoring and then sketch.

5. 8a°-64=-56a
Pr*+56a -64=0
9la2s 72-8)=0

(':(a-r-?’)(@") =0

In 7 - 10, simplify completely.

7. 8108

9 V5 .3
W

In 11 - 12, solve by finding square roots.
Cﬁ‘i I1. 9m® +10 = 658

D Z‘: (p"/«f/

m = T2
/r = i‘(afZ’j

O TR N A 2t cemm—— e

L U1 o
Name ﬁéér

Date_ 7/¢//& _Block/A, 28

2. 5a*-12a-9

4, 24m’® —54m

é"’)(ﬁlm i"?)

Erv:(ZM-ﬁE)(%—f)?.

6. —-18=v>+9y
Vi gv +/f=0
(V +6)(Vr3) =0

Ve, -3f

8. V15-410
Vi - [T

12, %(x—z)2 +3=12

F(x2)*= 9

(x-2)*=27
¥-2 =%t3(3F
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In 13, evaluate the discriminant and state how many solutions and of what type.

13. 4r* —4r-3=-6 2
r r A ’7/&&
Y% _dr+3=0 ‘
VR A DIED. 7 e 177 f
/o — S
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In 14 - 15, solve using the quadratic formula, Answers should be given in simplest radical form, when
necessary.
:'1-4_, 2x2 -9 =6x+1 A zq 15/ 9x% —6x-3=18x-19
=)
2x%-lbx 1O & X - 29y v/ = O
X= X ez )-/0) LTt Jine
= = T ST /6
> ’ X =297 /2 HIXD 24 /7
2129 Y4 /¢ (3
In 16 - 20, perform the in operation.

16K +Tk+6 k?+3k-40
ST 4k+32 kP +k-30

(Lt Xkt!)  (pg? Nk-5)
¥ (kr?' ) (k) (E5 )

=y :
‘/ —

ig, A=8.5n8 [ 4 %+2t2-30 o 5 4
n+d s " X-5 x+2
L £ (n+4)
E(n-6)  Ynr#h S(x+2)—-(x-5)

S5+ ) 5 (A+4) (x-5 ) X*+2)
S =3D # d*r)lom

X +3D
(X-5)(X+2)
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